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QUESTION 1

Which of the following is not a part of an E2E Network Slice? 

A. Cloud Slice 

B. Core Slice 

C. Access Slice 

D. Transport Slice 

Correct Answer: A 

 

QUESTION 2

Which of the following technologies drive 5G increased throughput capacity? (Choose three.) 

A. MU-MIMO and beamforming 

B. Higher spectral efficiency 

C. Network Slicing 

D. Multi-connectivity per User Equipment 

Correct Answer: ABC 

 

QUESTION 3

Your manager started a brainstorming session during a meeting on how automation can be driven in the network. He
asks what tools can be used to increase automated services in the network. What would you answer be? 

A. We need to find a software company that will write software to automate the network services. 

B. We can create rule-based automation. We can also use Artificial Intelligence and Machine Learning to automate all
network services. 

C. We can write scripts that will be executed at certain times when a specific event happens and the service will be
automated in this way. 

D. We can use big data. It is the main tool that should be used for network automation. 

Correct Answer: B 

 

QUESTION 4

What are the benefits of the stateless or state-efficient aspects of network functions? 
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A. Avoid massive database corruption 

B. Provide real time access to the databases 

C. Enable scalability and extreme resiliency in the 5G Core 

D. Ensure the database integrity 

Correct Answer: C 

Reference: https://www.nokia.com/about-us/news/releases/2018/01/29/nokia-implements-future-xnetwork-architecture-
for-5g-to-deliver-breakthrough-network-performance-and-reduce-costs/ 

 

QUESTION 5

Which of the following statements about 5G Transport is incorrect? 

A. Widely diverse end to end services will require the ability to create a Transport Slice with guaranteed SLAs. 

B. Ultra Reliable Machine to Machine communication will require dependable low latency communication. 

C. Internet of things devices will require a massive increase in network connectivity. 

D. Explosive traffic growth will require statically defined manually configured end to end QoS based services. 

Correct Answer: C 
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